ZH A DG
(%11]
O1HE : REGEHPF)HEHE = M UMNRR I C) AR = BEFHASR (&H)
2B : FFTREHRE = BEMH@EEE 1 C)ADEX > SHFE

O=m#F I C(ZEHEM Mo CFADEE

<LTBE> 7,800 M & Z % 5,500 MIZ&I5] (9 29. 5% DEI51)

<EBPEF> 6,400 D & Z % 4,500 AIZEIEI (%9 29. 7% DEIEI1)

X i EEENE BEHBEFHE BB
BHF I C=>/\EFAR 600 F 500 M 25.8km
INEFARE=>/INRRI C 3,200 A 2,550 M 122.5km
KR 1 C=>FFFREAI C 850 M 700 M 26.9km
MBI C=>iEIC 150 [ 650 M 23.1km
B8 1 Co>2/N\NEFAR 1,800 M 1,500 M 64.3k m
NEFABE=>8HF 1 COT)) 600 [ 900 [ 25.8km

a &t 1,800 A 6,400 A 288. 4k m

(512]
O1HEB : RRGEAMHE = WhH(RELTHMER) AIERL > HWHRELR (ER)
2HE : ERMALE = BEHEADEL > SHFE

Offn 1 Ch CHIADIZE

<EBE> 8,020 MM & C % 5,500 MIZEIZI (#931. 5% DE5])

<EHPEF> 6,670 HM & Z % 4,500 MI=&I5] (9 32. 5% DEI51)

X i TEENS BEHBESZHNS BE B
I Ca2/N\EFARK 600 F 500 M 18. 1Tk m
NEFAB=>AOM1 C 1,900 M 1,550 M 68.1km
ELTEHHI C=>GiH1 C (7)) 520 M 520 M 8.5km
AOM I C=2—E#k1 C 1,400 M 1,150 M 47.4km
— =R | C>BFFEMI C 600 F 500 F 16.9k m
FRFEEF=/\EF AR 2,400 M 1,950 M 87.4km
NEFARE=>M 1 C(7Y-) 600 F 500 F 18. 1Tk m

& it 8,020 M 6,670 M 264.5k m




